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1. points 2. decide 3. pose 4, hurts

5. kangaroos 6. snake 7. quizzes 8. reporting
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R, ETMFEE 6% (BE27 , F—REH17)

1. |Cindy’s bedroom is the dirtest of all/ the three rooms.

2. We listened to Judy singing on TV last night.

He is talking to himself.

SH| w
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The zebra looks much more special than the horse because of their white and black colors.
Zebras look much more special than horses because of their white and black colors.

2. \When Mom puts / put on her sunglasses, she looks / looked as beautiful as a model.

3. [To me, English is the easiest, but | have problems with science.

4. [The wind is blowing hard, I just saw the wind blow / blowing down several trees.
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1.| It’s on November twelfth.

2. | Let’s go out for dinner at the new restaurant this weekend!

3. | How much rice is there in the kitchen?

4. | How many cups of milk shake does she need?

+., 8K 12% ( BE DEIET)

1. | Which does he sell, fish soup or chicken soup?

2. | I’m making a pumpkin pie for the party, but | don’t have(any) sugar and flour.

3. | She takes care of me twenty-four hours a day. Every day can be Mother’s Day.

4. | First, put the soy milk and ice cream in a blender. Second, blend for three minutes.




